MmP CEX 100

PUMPS . .
by Gardner Denver 1" x 1" End Suction Centrifugal Pump

The CFX 100 316 stainless steel centrifugal pump is ideal for hard-to-handle
applications in the marine, commercial, and industrial markets.

All wetted components are 316 investment cast stainless steel providing
superior corrosion resistance when pumping chemical compounds. A carbon
/ ceramic / Viton bellows shaft seal is standard with optional seals available
on request. The CFX 100 model is available with 1” NPT port configurations.
Pump rotation in 90° increments.

SPECIFICATIONS: A —

Suction And Discharge 1" NPT x 1" NPT « Agricultural
Materials Of Construction 316 stainless steel : Commérc'al
« Industrial

Flow Up to 40 GPM « Marine
Head Feet Up to 54'
Impeller 3.75" 316 stainless steel
Drive Options Close coupled 115V AC, Close coupled

230V AC, Close coupled 24V DC,

Pedestal
Seal Carbon / ceramic / Viton bellows 150 PSI,

Special seals upon request



CFX 100

24 ;
..... ﬂ3|75|MP| MODEL CFX100
22 \ SIZE 1X1 |
:;n.: @3.25 IMP 28V VOLTSDC _24V |
20 (3.
{.______ [ — f 1
M—
18
T
16 4+— \\ \_\
- ©3.25 IMP e
nl*-‘: 14 e NN
% S — ‘\\ i
(=] 12 b‘\z \'x‘\
ﬁ - Y
i | SN N
'&_' | B K
2 8 1
N\
6 \\
] @3.75IMP | o
_o325MP28v] 0 o
. 23.25 IMP o
p 10 E
0 0
0 20 40 60 80 100 120 140 160
LITERS PER MINUTE CN5237 METRIC
34800 BENNETT - FRASER, MI 48026-1686
MP (556 2038240 - FAX (586) 293-8469 CEX 100

(800) 563-8006 - www.mppumps.com

by Gardner Denver



CFX 100

CFX100 PUMP

TDH (Ft)

mP

PUMPS

by Gardner Denver

10

3450 RPM
1" x 1" NPT
—3.75" —
—
\
—3.50 N

AT
(978" HP | L1 N | |
//
/ _— 350" Hp
//
// -
0 10 20 30 40 50
Flow (GPM) C/N 171127
34800 BENNETT - FRASER, MI 48026-1686
(586) 293-8240 - FAX (586) 293-8469

(800) 563-8006 - www.mppumps.com

0.7

0.6

0.5

0.4

0.3

0.2

0.1

HP

CFX 100



CFX 100

80
A MODEL CEX100
i SIZE 1x1 |
70 VOLTS DC 24V |
@3.25 IMP 28V
——
s o —
60 Bofose o P e
. | 93.25IMP \‘\ B
W 50 . ~
"'.' T “i‘\ Ne
o —— NS
E 40 B N \,\
4 A
ls N
© 30 N AN
N NN
N, A\
AN
20 N,
o m.lvs mlup B
——r— | @3.25IMP 28V | »
10 == =T 23.25 IMP 20 o
- 10 2
’ 0
0 10 20 30 40 50
GALLONS PER MINUTE CNs237

P 34800 BENNETT - FRASER, MI 48026-1686
(586) 293-8240 - FAX (586) 293-8469 CEX 100
(800) 563-8006 - www.mppumps.com

PUMPS

by Gardner Denver



CFX 100

CFX100 PUMP
3450 RPM
1" x 1" NPT
60 l l
B‘TSII H
50 ! ! ™
3.50" |
h""—-..\ Ny
h‘\ B,
40 ,\\ N
N \\
- 30 S
w ="
':ﬁ_: 3.75" HP ,...--""ji Al
20 - :
~ et i
» ] B 3.50" HP
10 =
=
Bl
=i
0
0 10 20 30 40
CIN
Flow (GPM) 171127

1.3
1.2
1.1
1.0
0.9
0.8
0.7
0.6
0.5
0.4
0.3
0.2
0.1

HP

mP

PUMPS

by Gardner Denver

34800 BENNETT - FRASER, MI 48026-1686
(586) 293-8240 - FAX (586) 293-8469
(800) 563-8006 - www.mppumps.com

CFX 100



CFX 100

[8.2]
o~

1" NPT
DISCHARGE 2,10
|

#6 WOODRUFF KEY |

5/8x5/32 _ i i

L,

vwiiy]

o ||
az

625
Pg24

mP

PUMPS

by Gardner Denver

U e P
1

~1.56 4.59

34800 BENNETT - FRASER, MI 48026-1686
(586) 293-8240 - FAX (586) 293-8469
(800) 563-8006 - www.mppumps.com

(4375 ||

THRU HOLES

2.50

5.00

CFX 100 PEDESTAL

CFX 100



CFX 100

14.28

1" NPT
DISCHARGE

— —2.10—+

[T

1 i )

e
I

CFX100 WITH AC MOTCR

P 34800 BENNETT - FRASER, MI 48026-1686
(586) 293-8240 - FAX (586) 293-8469 CEX 100
(800) 563-8006 - www.mppumps.com

PUMPS

by Gardner Denver



mP

PUMPS

by Gardner Denver

CFX 100

CFX100 WITH AC MCQTOR

34800 BENNETT - FRASER, MI 48026-1686
(586) 293-8240 - FAX (586) 293-8469
(800) 563-8006 - www.mppumps.com

ITEM NO. PART NUMBER
4930
21238
34924
35262
50645
38369
35052
35053
35687
33561
38660
38669
34924
21251
21264
34928
21435
35035
35039

oD O N0 0 O Lh L e B e L RS —

DESCRIFTION
CAPSCREW: 5/16-18X5/8
LOCKWASHER 5/16 X 18
COVER
3.75@ IMPELLER
3.50@ IMPELLER
3.25@ IMPELLER
SEAL ASY:.5/8 T-21
SEAL ASY:5/8T-9
SEAL ASY:5/8 T-21
O-RING A3-568-240
O-RING AS-568-240
O-RING AS-568-240
HOUSING
CAPSCREW: 3/8-16X7/8
LOCKWASHER 3/8 X 1/8
ADPPLT
SLINGER
ELECTRIC MOTCR 56
CAPSCREW 1/4-20X5/8

MATERIAL
55316
304 55
31658
31685
31655
31688
CCS/VITON
TEFLON
CSCHVITON
VITOM
EPDM
BUNA,
31658
304 55
304 55
ALU. 356 T-6 CAST
NEC
TEFC
31655

RESSRRESESEETRE NN,

CFX 100



CFX 100

mpP

PUMPS

by Gardner Denver

ITEM NO.

CFX 100 PEDESTAL

34800 BENNETT - FRASER, MI 48026-1686
(586) 293-8240 - FAX (586) 293-8469
(800) 563-8006 - www.mppumps.com

1
2
3
4
4
4
3
5
5
-]
&
é
7
8
9

10

PART NUMBER
34930

21238
34926
33561
38640
38669
35262
50645
36367
35052
35053
35687
34724
39547
33564
33563

DESCRIPTION
CAPSCREW: 5/14-18x5/8
LOCKWASHER 5/16 X 18
COVER
O-RING AS-568-240
O-RING AS-568-240
O-RING AS-568-240
3.75@ IMPELLER
3.50@ IMPELLER
3.25 IMPELLER
SEAL ASY:5/8 T-21
SEAL ASY:5/8T-9
SEAL ASY:5/8T-21
HOUSING
PEDESTAL ASSEMBLY
LOCKWASHER 1/4"
CAPSCREW 1/4-20X1

MATERIAL

55 314

304 55
31458
WITON
EFDM
BUMNA

314 55
31488

314 558
CCS/VITON
TEFLON
CSCVITOMN
314 55

304 53
304 55

Q

e e e e

CFX 100


http://www.tcpdf.org

